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1. BHAMBENEE(iI) <EXREEE>
N =% NEREEIERS BEE BE |[1BAY0LE

~ 5775 151518 667 3,987

EXiE 1 Ea =3 ) Ik=1 2Z[838 | 133480 | 17408 | 1880H 4,654
(3%)56H1/H 3ZI&H | 2,002H 5,322

B 721 B3 151848 819 4,139F
EXiE 2 EAe =3 ) Ik=1 22838 | 16380 | 17408 | 1880 4,958

(3%)56E{i1/H 3EIEE | 2457H 5,777H
752841/ B [ETE=EE] 852H 4172

ENE 1 B =3 ) Ik=1 2Z[838 | 1,7030 | 17408 | 1880H 5,023H
(3%)56H1/H 3ZI&fH | 2555H 5,875

799Ei {1/ B [E=EE 901 4221H

EANE 2 FHRERME 2ZI&3 | 18020 | 1740M | 1880HM 5,122H

(%) 56E{i1/H 3ZIEE | 2,704H 6,024 H
861841/ H [ET=EE] 967H 4,287

EZNiE S Bt =3 ) Ik=1 2Z[838 | 1,9330 | 17408 | 1880H 5,253 H
(3%)56H1/H 3ZI&fH | 2,900 6,220

914Ei{z/8 (=R 1,022H 4 342H
EANE 4 FHREFRME 2Z1&3 | 2045 | 1740 | 1880HM 5,365

(3%)56E{1/H RETE=EE] 3,067 6,387H
966 B/ H [ETE=EE] 1,077H 4,397

EZMNE 5 B =3 ) Ik=1 2Z[838 | 2,540 | 17408 | 1880H 5,474
(3%)56H1/H 3ZI&H | 32320 6,552

*1B{1=1054H

(BEMIR #:5201 B:680M &:680M)

2. BHAEENEE (i) <BKRE>
BENEXS NEERIEEED EEE BE [1BZYDLE
610Ei 42/ B [E=EE 702H 3332H
EXiE 1 EAe =3 ) Ik=1 2Z[E8f8 | 14040 | 750 | 1880HM 4034
(3%)56E{i1/H 3ZEIEE | 2,106M 4736
~ 7685 i/ H ] 868H 3498
BEXig 2 Bt =3 ) Ik=1 2ZI1& | 17370 | 750M | 1880M 4367H
(%) 56Hi/H 3EIEE | 2,605 5235
827H i1/ H [E=EE 931H 3561 H
ENE 1 FHRERME 2EIEHE | 1,861H 750M 1880M 4491
(%) 56E{i1/H 3EIEHE | 2792H 5422H
876 {1/ H [ET=EE] 982H 3612
EANE 2 F4ERIME 2ZI&1 | 1,965 750 1880H 4595H
(3%)56H1/H SEIE | 2947H 5577
939Ei i1/ H (=R 1,049 3679H
E4E 3 FHERNMNE 2E[EE | 20970 | 750M 1880 4727
(3%)56E{i1/H 3ZIEHE | 3.146H 5727H
9918ifI/H [ETE=EE] 1,104H 3734
BENE 4 FERIME 2EI&1 | 2207A 750M 1880H 4837H
(3%)56H i/ H RET=EE] 3,311 5941
1045E i1/ H (=R 1,160M 3790H
E4 & 5 FHENMNE 2Z[&3E | 23210 | 750 1880 4951
(%) 56E{i1/H 3Z|E&E | 3481H 6111H
*1Bi{i1=10.541 (BEWNR #:520M &R:680M 7%:680M)
<HEHRMEDAE> <Hl&E&ER>
- H—E R EAFERIEME( T oo 22Bifi/H -EEF 2,000M/82
AEER-EEESIIEMEME(]) v 3484/H -BRARE EE
-REBEREME 24Eifi1/H -HEIREE E£E
- SRENGE 7 7 N (2B I FIBE) 716E{1 /R 9)—=27 154F/H
SENE (FE) 184 {7 /[A] -ERERARE 50M/8
ERINEYTF—a  REME 24081/ H (TVERES
-EEAEMECE) SHfI/B
-RREMARZANE 90EifI/H(14BET) <BEBFRK>
-NERELEREMECD) FrEHEAIE x 3.9%/A -hvbk 2,200
NEBEEFR TN EREME(LD) FTEBEAIE x2.1%/8 < IN—T+hYk 7,700
NEBEBEN—RT7YITEXENE A E B % % 0.8%/ H “h5— 6,600
-REEFEEME 275841/H(THZET) - Hh5—+hvk 7,700




